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SR = SoX Avg. of Difference of RBI Indices for steel X T
Avg.of Thereotical RBI. Index for the quarter in which steel is
consumed

Where, SR - Special relief to be given for steel price rise, in Rupees.

So = Basic rate of steel in Rupees per tonne considered while accepting the
tender. i.c., DSR rate on which tender is based .

T= Weight of steel in tonne/tonnes used afier 1.7.2003., in the corresponding
quarter.

(Refer Solved example —A in Annexure)
-
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amﬁﬁaaﬁﬂuﬁ@aaﬁ.xm?ﬂawﬂmmv@”,wﬁmﬂwﬁ@ﬁﬁﬂqmm
SR= S0 X _Avg, Difference of RBI Indices for steel X T
Theoretical RBI Index for the month in which last date for reccipt of
tender falls. -

e

Where, SR - Special relief to be given for steel price rise, in Rupees.
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So = Rasic rate of stecl in Rupees per tonne considered while accepling the
tender, i.e., DSR rate on which tender is based .

T= Weight of steel in tonne/tonnes used after 1.7.2003., in the corresponding,
quarler.

(Reler Solved example-B in Annexure)
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APPENDIX

%,
(Accompaniment to the Government Resolution regarcﬁng Special Reliel for Steel to hl.
given due to abnormal rise in the cost of steel)

Special Relief for Steel.

Note : The all India steel price index as published in the RBI Bulletin has increased [rom
135.80 in October 2002 to 151.50 in June 2003. The increase in the index of 15,70 has
taken place in the short period of 8 months. Therefore, average monthly increase of 1.96

considered for working out theoretical index shown in Column 2 below —

[ Month & Year | Theoretical Index | Actual Index for | Difference in
assuming pro-rala the month Index (Col.3-2)
increase on the

K basis of trend of
T previous years.
1 1 ) 3 4T

June 2003 151.50. 151.50 S

- [ July 2003 153.46 158.90 +544°

August 2003 155.42 176.00 +20.58

September 2003 157.38 187.40 +30.02
October 2003 159.34 190.70 +31.36 |
' November 2003 161.30 ' 190.70 +29.40
‘December 2003 16326 -~ |  190.70 +27.44
January 2004 - 165.22 189.70 +24.48
February 2004 167.18 ~189.70 - +22.52
March 2004 .~ |~ 169.14 '197.30 +28.16
April 2004 ST17A0 ~201.60 +30.50
May 2004 173.06 202.00 +28.94

[ June 2004 17502 235.10 16008
July 2004 176.98 . 241.00 +64.02 |
August 2004 178.94 23730 | 45836 |
September 2004 180.90 237.30 +56.40

| Oclober 2004 182.86 237.30 +54.44

| November 2004 -~ 184.82

 December 2004 — | 186.78 and so on -

% The actual indices for Nov. 2004 onwards for steel shall be taken from R.B.I.

Bulletin.



ANNEXURE
SOLVED EXAMPLES

Solved example for working out Special Relief for tenders

received/accepted hefore 1.7.2003.
A) Solved example for working out Special Rélief as pef para 6(a) of the G.R. |

" Data :- _
Steel consumed in quarter September 2003 to Nov.2003, sa)} 16 tonnes.

So-Basic rate of steel in rupees per tonne considered while calling tender, i.e.
DSR rate on which tender is based, say, Rs.17000/ tonne.

~ Table for steel price indices will be as under.

[ Month & Year | Theoretical Index | Actual Index for | Difference in
assuming pro-rata the month { . Index (Col.3-2)
\ - increase on the )
. ~ basis of frend of | - e G
previous years. -
Sept.2003 115738 |187.40 +30.02
0c1.2003 15934 ° 19070 T [43136 T
Nov2003~ ~ [161.30 19070 TTTTTT429.40
T Average | 15934 18960 T [43026

" SR = So X Avg. of Difference of Indices XT
Avg.of theoritical RBI Index for thequarter in which steel is
consumed (say Sept.2003 o Nov. 2003)

“T ! ]
= 17000 X 30.20 X 16
159.34

= Rs.51655.05

B) Solved cxample for working out speical relicl as per para 6 (b) ol the G.R.

Data :-
Tender is received say in month of January 2004.Steel consumed in

quarler February 2004 to April 2004 say 16 (onnes.
So — Basic rate of steel in rupees per tonne considered while accepting the

tender i.c. excess approved with respect to market rate.

Say Rs.18000/tonne.
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Table for steel price index will be as under.

‘Month & Year , | Theoretical Index | Actual Index | Difference in
assuming pro-rata | forlthe month * | Index (Col.3-2)
increase on the
basis ol trend of
previous years.

2 3 S RN
~ [January 2004 | 189.70* - | - 189.70 e
" | February 2004 - [ 191.66** |~ 189.70 (1.9
‘March 2004 . 193.62%** | 7 19730 | 7 +3.68
April 2004 77T 19558 T 197300 |7 #1172

Average (+) 1.15

SR= So X _Avg. Difference of RBI Indices for steel X T
Theoretical RBI Index for the month in which last date for receipl of
tender falls. :

SR =18000X 1.15

189.70.
SR = Rs.1745.90 T

* 189.70 — Actual Index for steel in the month of receipt of the tender
% 189.70 + 1.964% = 191.606

FEE191.06 + 1,904 = 193.62 ...... and so on

& 1.6 is average monthly index from October 2002 to June 2003
considered for working out theoretical index .



